

Department of Engineering and Public Works P.O. Box 21229 West Palm Beach, FL 33416-1229 (561) 684-4000 FAX: (561) 684-4050 www.pbcgov.com

Palm Beach County Board of County Commissioners

Maria Sachs, Mayor

Maria G. Marino, Vice Mayor

Gregg K. Weiss

Michael A. Barnett

Marci Woodward

Sara Baxter

Mack Bernard

County Administrator

Verdenia C. Baker

"An Equal Opportunity Affirmative Action Employer"

Official Electronic Letterhead

DATE:	March 7, 2024
TO:	M&M Asphalt Maintenance Inc., D/B/A All County Paving R & D Paving, LLC Florida Blacktop, Inc. Bergeron Land Development, Inc. Ranger Construction Industries, Inc.

FROM: Morton L. Rose, P.E., Director, Roadway Production Div.

RE: AWARD RECOMMENDATION GATEWAY BOULEVARD AND LAWRENCE ROAD & OLD BOYNTON ROAD AND LAWRENCE ROAD INTERSECTION IMPROVEMENTS PALM BEACH COUNTY PROJECT NO.: 2019105 & 2019115

Based on bid results and EBO compliance review, Engineering & Public Works recommends award of the above referenced contract to M&M Asphalt Maintenance Inc., D/B/A All County Paving.

The enclosed Award Recommendation will be posted at the Engineering & Public Works Department / Roadway Production Division reception area on the 3rd Floor at 2300 North Jog Road, West Palm Beach, Florida on March 8, 2024.

http://discover.pbcgov.org/engineering/roadwayproduction/Pages/Bid-Documents.aspx

If your office wishes to protest the award recommendation, you may do so by addressing your protest to Ms. Melody Thelwell, Director, Palm Beach County Purchasing Department, 50 South Military Trail, West Palm Beach, Florida 33415. Failure to submit a protest to the Director of Purchasing within five (5) business days after posting of the Award Recommendation, as prescribed in Section 2-55(b) of the Palm Beach County Code, shall constitute a waiver of proceedings under the referenced County Code.

We thank you for your continued interest in bidding Palm Beach County projects

f:roadwayspro⁵2019/2019105 and 2019115 gateway and old boynton at lawrence(5 - award\intent and reject letters/award recommendation.docx



enc:

ec:

Bid Tabulations EBO Compliance Review

David L. Ricks, P.E., County Engineer Joanne M. Keller, P.E., Deputy County Engineer Steven B. Carrier, P.E., Assistant County Engineer Morton L. Rose, P.E., Director, Roadway Production Division Kathleen O. Farrell, P.E., Assistant Director, Roadway Production Division Maroun Azzi, Sr. P.E., Thoroughfare Roads Manager, Roadway Production Division Carlos Bojorge, P.E., Special Projects Manager, Roadway Production Division Holly B. Knight, P.E., Contracts Section Manager, Roadway Production Division Harvey Phillips III, Project Coordinator I, Roadway Production Division Kenny Rampersad, Director, Administrative Services Division Danny Ramlalsingh, Fiscal Manager, Administrative Services Division Yicel Corcino, Financial Analyst II, Administrative Services Division Susan Hudson, Financial Analyst, Administrative Services Division Albert Hoffman, Director, Construction Coordination Division Motasem Al-Turk, P.E., Director, Traffic Engineering Division Fattoush Jafar, Sr. P.E., Traffic Engineering Division Adam Faustini, Director, Road & Bridge Division Ali Bayat, Director, Water Utilities Department Tonya Johnson, Director, Office of Equal Business Opportunity Allen Gray, Manager, SBE Division, Office of Equal Business Opportunity Angela Smith, Small Business Development Specialist III, SBE Division, OEBO Melody Thelwell, Director, Purchasing Department Tiffany Thomas, Contract Oversight Specialist, Office of the Inspector General Yelizaveta B. Herman, Assistant County Attorney Fay Reynolds, Legal Secretary, County Attorney's Office Sean Reilly, Construction Coordinator, Traffic Division Graciela MCausland, Construction Coordinator, Traffic Division

Carl Bengtson, Manager, Streetscape Section



AWARD RECOMMENDATION GATEWAY BOULEVARD AND LAWRENCE ROAD & OLD BOYNTON ROAD AND LAWRENCE ROAD INTERSECTION IMPROVMENTS PALM BEACH COUNTY PROJECT NO.: 2019105 &

2019115

Palm Beach County Engineering & Public Works recommends award to **M&M Asphalt Maintenance Inc., D/B/A All County Paving**, the lowest responsive, responsible bidder meeting all of the Equal Business Opportunity (EBO) ordinance requirements.

Rank	Bidder	Bid Amount	Footnotes
1	M&M Asphalt Maintenance Inc., D/B/A All County Paving	\$1,059,000.00	1, 2
2	R & D Paving, LLC	\$1,169,810.86	2
3	Florida Blacktop, Inc.	\$1,406,882.30	2
4	Bergeron Land Development, Inc.	\$1,518,405.53	2
5	Ranger Construction Industries, Inc.	\$1,560,077.49	2

Footnotes: 1. Recommended Awardee

- 2. Responsive to the Entire Solicitation
- 3. Non-responsive to the EBO Ordinance Mandatory API
- 4. Non-responsive to other EBO Ordinance Requirements
- 5. Bid order of ranking was affected by the Local Preference Ordinance
- **Enclosures:** Office of Equal Business Opportunity Compliance Review Bid Tabulations

OEBO PARTICIPATION EVALUATION FORM

DATE SENT: February 29, 2024	CONTRACTS MANAGER: Holly Knight, P.E.		
PROJECT #: 2019105 & 2019115	PROJECT NAME: Gateway Blvd. at Lawrence Rd and Old Boynton Rd. at Lawrence Rd. Intersection Improvements		
USER DEPARTMENT: Engineering	SOLICITATION OPENING DATE: February 20, 2024		
OEBO ESTABLISHED API: SBE Subcontracting (min of	of 20%)		

SOLICITATION EVALUATION INFORMATION

RESPONDENT	PRIME IS A CERTIFIED S/M/WBE	IS PRIME BIDDER RESPONSIVE	PERCENTAGE OF S/M/WBE UTILIZATION	PERCENTAGE OF M/W/BE (AA/HA)
M&M Asphalt Maintenance, Inc. d/b/a All County Paving	2	1	23.6%	3
R&D Paving, LLC	1	1	82.59%	3
Florida Blacktop, Inc.	1	1	36.2%	3
Bergeron Land Development, Inc.	2	1	21.1%	3
Ranger Construction Industries, Inc.	2	1	30.72%	3

KEYS FOR DETERMINATION (NOTED IN THE SOLICITATION EVALUATION INFORMATION TABLE)

(1) YES

(2) NO

(3) N/A

EVALUATION NOTES:

M&M Asphalt Maintenance, Inc. d/b/a All County Paving is responsive to the API and the EBO Requirements. R&D Paving, LLC is responsive to the API and the EBO requirements.

Florida Blacktop, Inc. is responsive to the API and the EBO requirements. (Please see the attached compliance review (OEBO compliance form J- v.5) for additional evaluation comments.)

Bergeron Land Development, Inc. is responsive to the API and EBO requirements.

Ranger Construction Industries, Inc. is responsive to the API and the EBO requirements.

Evaluated by: Angela Smith, SBDS III

0'		
Signature:	angene	

Date: 2/29/2024

Reviewed by:	Allen Gray	
Signature:	10. 91	

Date: 3.6.2024

	Certification Status	Expiration Date	Bid Amount/Price/ Less Contingency: \$92	
Prime Respondent: M&M Asphalt Maintenance, Inc. d/b/a All County Paving	Non-SBE	N/A	72%	
Subcontractor/Sub consultant Name				Supplier
Trinity Striping Inc.	SBE	5/17/2026	1.34%	
TCLM Enterprises Inc.	WBE	12/27/2024	19.2%	
Atlas Surveying & Mapping	SBE	2/7/2022	3.02%	
Arrive Alive Traffic Control	Non-SBE	N/A	.46%	
Unlimited Electric Group	Non-SBE	N/A	17.85%	
	TOTAL SBF PA	RTICIPATION	23.6%	

	Certification Status	Expiration Date	Bid Amount/Price/Percer Less Contingency: \$1,044,991	
Prime Respondent: R&D Paving, LLC	WBE	5/4/2025	S/WBE Items: 54.09% Non-SBE Items: 14.5%	
Subcontractor/Sub consultant Name				Supplier
TCLM Enterprises Inc.	WBE	12/27/2024	17%	
Pathway Enterprises	SBE	7/11/2025	11.5%	
Carr Construction, LLC	Non-SBE	N/A	14.6%	
	TOTAL SBE PA	RTICIPATION	82.59%	
Evaluation Comments: R&D Paving, LLC is responsive to the API and the EBO requirements.				

	Certification Status	Expiration Date	Bid Amount/Price/P Less Contingency: \$1,22		
Prime Respondent: Florida Blacktop, Inc.	SBE	7/28/2025	SBE: 22.43% Non-SBE: 38.35		
Subcontractor/Sub consultant Name				Supplier	
Trinity Striping, Inc.	SBE	5/17/2026	1.01%		
Wm. D. Adeimy, Jr., Inc.	SBE	3/21/2026	12.45%		
Agricultural Land Services	WBE	11/3/2025	.31%		
Johnson-Davis, Inc.	Non-SBE	N/A	17.8%		
Signal Technology, Inc.	Non-SBE	N/A	18.54%		
Atlas Surveying & Mapping, Inc.	SBE	7/11/2025	*No Dollar Amount		
	TOTAL SBE PA	RTICIPATION	36.2%		

Evaluation Comments: Florida Blacktop, Inc. is responsive to the API and the EBO requirements.

* Atlas Surveying & Mapping, Inc. (SBE) did not provide a complete Schedule 2, therefore, their participation will not count towards the total percentage. The Schedule 2 needs to include the services to be performed as an SBE and a dollar amount or percentage. OEBO cannot determine if Atlas Surveying & Mapping, Inc. agreed to the amount indicated on the Schedule 1.

	Certification Status	Expiration Date	Bid Amount/Price/Pe Less Contingency: \$1,		
Prime Respondent: Bergeron Land Development, Inc.	Non-SBE	N/A	58%		
Subcontractor/Sub consultant Name				Supplier	
Johnson-Davis, Inc.	Non-SBE	N/A	16.2%		
All Paving, Inc.	SBE	6/12/2024	12.2%		
Pathway Enterprises, Inc.	SBE	7/11/2025	8.9%		
Gerhold Electric, Inc.	Non-SBE	N/A	4.7%		
	TOTAL SBE PA	RTICIPATION	21.1%		

Evaluation Comments: Bergeron Land Development, Inc. is responsive to the API and the EBO requirements.

Ρ	а	g	е	4
---	---	---	---	---

	Certification Status	Expiration Date	Bid Amount/Price/Pero Less Contingency: \$1,3	
Prime Respondent: Ranger Construction Industries, Inc.	Non-SBE	N/A	80.75%	
Subcontractor/Sub consultant Name			1	Supplier
TCLM Enterprises, Inc.	WBE	12/27/2024	9.87%	
Pacifica Engineering Services, Inc.	MBE - BL	10/24/2024	.35%	
Ritzel-Mason, Inc.	SBE	4/9/2025	1.56%	
Agricultural Land Services, Inc.	WBE	11/3/2025	.27%	
Pathway Enterprises, Inc.	SBE	8/22/2026	7.61%	
Southwide Industries	SBE	8/22/2026	.27%	
AUM Construction Inc.	MBE - HI	7/8/2024	9.88%	
Treecycle Land Clearing	SBE	1/28/2027	.91%	
	TOTAL SBE PA	RTICIPATION	30.72%	

Evaluation Comments: Ranger Construction Industries, Inc. is responsive to the API and the EBO requirements.

GATEV	BID TABULATIONS ATEWAY BLVD AND LAWRENCE ROAD/OLD BOYNTON ROAD AND LAWRENCE ROAI PBC PROJECT #2019105 & 2019115			ROAD	Iten	Average of Bid ns for All Bidders	Engineer's Estimate	e M&M Asphalt Maintenance Inc., D/B/A All County Paving				R & D Paving, LLC				
# F	DOT Item #	Item Descrption	Qty.	Units		Unit Price	Unit Price	Unit Price		Unit Price Amount		Unit Price	Amount			
ROADWA	AY ITEMS			1								1				
1 10	1-1	Mobilization	1	LS	\$	219,268.13	\$ 37,586.10	\$	85,063.00	\$ 85,063.00	\$	121,700.00	\$ 121,700.00			
2 10	2-1	Maintenance Of Traffic (Including Pedestrian MOT)	1	LS	\$	75,128.63	\$ 12,528.70	\$	45,337.65	\$ 45,337.65	\$	42,239.00	\$ 42,239.00			
3 11	0-1-1	Clearing & Grubbing	0.56	LS/AC	\$	106,253.97	\$ 43,484.35	\$	75,000.00	\$ 42,000.00	\$	120,500.00	\$ 67,480.00			
4 12	0-1	Regular Excavation	2,012.7	CY	\$	28.25	\$ 12.31	\$	30.00	\$ 60,381.00	\$	39.10	\$ 78,696.57			
5 12	0-6	Embankment (Compacted In Place)	66.2	CY	\$	61.44	\$ 16.80	\$	50.00	\$ 3,310.00	\$	102.60	\$ 6,792.12			
6 28	5-713	Optional Base, Base Group 13	1,272	SY	\$	50.28	\$ 36.60	\$	46.95	\$ 59,720.40	\$	54.80	\$ 69,705.60			
7 32	7-70-1	Milling Exist Asph Pavt, 1" Avg Depth	7,583	SY	\$	5.90	\$ 3.73	\$	4.25	\$ 32,227.75	\$	6.75	\$ 51,185.25			
8 334	4-1-13	Superpave Asphaltic Conc, Traffic C (1.5")	105	TN	\$	306.66	\$ 142.71	\$	250.00	\$ 26,250.00	\$	357.35	\$ 37,521.75			
9 33	7-7-82	Asphalt Concrete Friction Course, Traffic C, FC-9.5 (1")	449.2	TN	\$	285.53	\$ 183.24	\$	230.00	\$ 103,316.00	\$	254.40	\$ 114,276.48			
10 40	0-0-11	Concrete Class NS, Gravity Wall	56.9	CY	\$	1,129.69	\$ 630.39	\$	975.00	\$ 55,477.50	\$	1,010.65	\$ 57,505.99			
11 42:	5-1-351	Inlets, Curb, Type P-5, <10'	2	EA	\$	10,604.60	\$ 6,701.99	\$	9,800.00	\$ 19,600.00	\$	9,735.00	\$ 19,470.00			
12 42:	5-1-361	Inlets, Curb, Type P-6, <10'	2	EA	\$	11,715.20	\$ 7,649.33	\$	10,700.00	\$ 21,400.00	\$	10,175.00	\$ 20,350.00			
13 42:	5-2-71	Manholes, J-7, <10'	2	EA	\$	14,640.80	\$ 822.85	\$	16,000.00	\$ 32,000.00	\$	14,850.00	\$ 29,700.00			
14 42:	5-5	Adjust Manhole	1	EA	\$	1,172.50	\$ 636.05	\$	1,100.00	\$ 1,100.00	\$	1,375.00	\$ 1,375.00			
15 42:	5-6	Adjust Valve Boxes	6	EA	\$	772.11	\$ 822.85	\$	250.00	\$ 1,500.00	\$	1,017.50	\$ 6,105.00			
16 43	0-175-115	Pipe Culvert, Round, 15"S/CD	4	LF	\$	724.90	\$ 180.15	\$	525.00	\$ 2,100.00	\$	495.00	\$ 1,980.00			
17 43	0-175-118	Pipe Culvert, Round, 18"S/CD	420	LF	\$	192.61	\$ 84.53	\$	150.00	\$ 63,000.00	\$	143.00	\$ 60,060.00			
18 43	0-175-130	Pipe Culvert, Round, 30"S/CD	4	LF	\$	968.15	\$ 171.86	\$	635.00	\$ 2,540.00	\$	605.00	\$ 2,420.00			
19 43	0-175-136	Pipe Culvert, Round, 36"S/CD	4	LF	\$	1,190.60	\$ 526.63	\$	720.00	\$ 2,880.00	\$	715.00	\$ 2,860.00			
20 52	0-1-10	Concrete Curb & Gutter, Type F	820	LF	\$	55.24	\$ 23.00	\$	56.00	\$ 45,920.00	\$	54.80	\$ 44,936.00			
21 52	2-1	Concrete Sidewalks, 4" Thick	458	SY	\$	77.28	\$ 49.53	\$	75.00	\$ 34,350.00	\$	76.65	\$ 35,105.70			
22 52	2-2	Concrete Sidewalks And Driveways, 6" Thick	157	SY	\$	99.13	\$ 69.18	\$	95.00	\$ 14,915.00	\$	85.80	\$ 13,470.60			
23 57	0-1-2	Sod	621	SY	\$	14.69	\$ 4.25	\$	13.70	\$ 8,507.70	\$	14.70	\$ 9,128.70			
SUBTOTA	AL (ROADW	AY)						\$		762,896.00	\$		894,063.76			

BID TABULATIONS GATEWAY BLVD AND LAWRENCE ROAD/OLD BOYNTON ROAD AND LAWRENCE ROAD PBC PROJECT #2019105 & 2019115				Average of Bid Items for All Bidders	Engineer's Estimate		lt Maintenance Inc., County Paving	R & D Paving, LLC				
# FDOT Item #	Item Descrption	Qty.	Units	Unit Price	Unit Price	Unit Price	Amount	Unit Price	Amount			
CONTINGENCY ITE	MS	1					_					
24 110-23	Tree Removal	7	EA	\$ 3,187.85	\$ 1,220.20	\$ 3,000.00	\$ 21,000.00	\$ 1,110.00	\$ 7,770.00			
25 121-70	Flowable Fill - Excavatable	100	CY	\$ 327.10	\$ 330.90	\$ 240.00	\$ 24,000.00	\$ 210.00	\$ 21,000.00			
26 425-1-461	Inlets, Curb, J-6, <10' (Conflict Structure)	1	EA	\$ 19,513.00	\$ 12,580.61	\$ 20,500.00	\$ 20,500.00	\$ 22,550.00	\$ 22,550.00			
27 430-94-1	Storm Sewer Cleaning (Exist.) (24" Or Less) (See SP's)	155	LF	\$ 31.30	\$ 13.55	\$ 25.00	\$ 3,875.00	\$ 27.50	\$ 4,262.50			
28 430-94-2	Storm Sewer Cleaning (Exist.) (>24" To 48") (See SP's)	348	LF	\$ 42.84	\$ 13.55	\$ 35.00	\$ 12,180.00	\$ 38.50	\$ 13,398.00			
29 515-1-2	Handrail	25	LF	\$ 233.71	\$ 63.66	\$ 125.00	\$ 3,125.00	\$ 500.00	\$ 12,500.00			
30 N/A	Class I Concrete (Miscellaneous)	50	CY	\$ 368.49	\$ 492.52	\$ 240.00	\$ 12,000.00	\$ 375.00	\$ 18,750.00			
31 N/A	Support And Protect Underground Pipe And Conduit	431	LF	\$ 21.17	\$ 42.58	\$ 12.00	\$ 5,172.00	\$ 11.00	\$ 4,741.00			
32 N/A	Changeable (Variable Message) Sign (Non MOT)	20	ED	\$ 20.48	\$ 31.88	\$ 15.00	\$ 300.00	\$ 28.00	\$ 560.00			
33 N/A	Traffic Control Officer (Non MOT)	40	HR	\$ 103.20	\$ 79.66	\$ 100.00	\$ 4,000.00	\$ 105.00	\$ 4,200.00			
34 N/A	Thickened Edge Sidewalk	216	SY	\$ 99.60	\$ 49.53	\$ 110.00	\$ 23,760.00	\$ 69.85	\$ 15,087.60			
SUBTOTAL (CONTIN	GENCY)	1				\$	129,912.00	\$	124,819.10			
SIGNALIZATION PA	Y ITEMS											
35 630-2-12	Conduit, Furnish & Install, Directional Bore	1,330	LF	\$ 56.41	\$ 52.93	\$ 45.00	\$ 59,850.00	\$ 51.45	\$ 68,428.50			
36 633-1-122-48	Fiber Optic Cable, (FSM) 48-Count (Underground)	213	LF	\$ 102.32	\$ 3.53	\$ 205.00	\$ 43,665.00	\$ 5.50	\$ 1,171.50			
37 635-2-12-A	Pull Box (17" x 30" x 12" D) Heavey Duty Covers (Tier22)	14	EA	\$ 2,558.40	\$ 1,863.19	\$ 2,368.00	\$ 33,152.00	\$ 3,418.00	\$ 47,852.00			
38 635-2-12-C	Pull Box (30" x 48" x 24" D) Heavey Duty Split Covers (ITS) (Tier22)	1	EA	\$ 5,229.60	\$ 2,926.14	\$ 4,350.00	\$ 4,350.00	\$ 6,751.00	\$ 6,751.00			
39 635-2-12-D	Pull Box (17" x 30" x 24" D) Heavey Duty Split Covers (ITS) (Tier22)	5	EA	\$ 2,882.31	\$ 1,863.19	\$ 2,875.00	\$ 14,375.00	\$ 3,695.00	\$ 18,475.00			
40 682-1-133	ITS CCTV Camera, F&I, Dome Enclosure - Non-Pressurized, IP, High Definition	1	EA	\$ 11,037.00	\$ 5,406.78	\$ 10,800.00	\$ 10,800.00	\$ 8,250.00	\$ 8,250.00			
SUBTOTAL (SIGNAL	IZATION)					\$	166,192.00	\$	150,928.00			
TOTAL BID						\$	1,059,000.00	\$	1,169,810.86			

GAT	BID TABULATIONS GATEWAY BLVD AND LAWRENCE ROAD/OLD BOYNTON ROAD AND LAWRENCE ROAI PBC PROJECT #2019105 & 2019115				Florida Blacktop, Inc.				Bergeron Land Development, Inc.				Ranger Constuction Industries, Inc.			
#	FDOT Item #	Item Descrption Qty.	Units		Unit Price		Amount	Unit P	Unit Price Amount		τ	Unit Price		ount		
ROAD	WAY ITEMS		1	1												
1	101-1	Mobilization 1	LS	\$	121,000.00	\$	121,000.00	\$ 389,7	0.64	\$ 389,710.64	\$	378,867.00	\$ 3	378,867.00		
2	102-1	Maintenance Of Traffic (Including Pedestrian MOT)	LS	\$	33,940.00	\$	33,940.00	\$ 130,5	4.50	\$ 130,544.50	\$	123,582.00	\$ 1	123,582.00		
3	110-1-1	Clearing & Grubbing 0.56	LS/AC	\$	128,000.00	\$	71,680.00	\$ 127,6	91.84	\$ 71,507.43	\$	80,078.00	\$	44,843.68		
4	120-1	Regular Excavation 2,012.7	CY	\$	35.00	\$	70,444.50	\$	7.82	\$ 35,866.31	\$	19.35	\$	38,945.75		
5	120-6	Embankment (Compacted In Place) 66.2	CY	\$	5.00	\$	331.00	\$	33.62	\$ 2,225.64	\$	116.00	\$	7,679.20		
6	285-713	Optional Base, Base Group 13 1,272	SY	\$	41.00	\$	52,152.00	\$	6.11	\$ 71,371.92	\$	52.53	\$	66,818.16		
7	327-70-1	Milling Exist Asph Pavt, 1" Avg Depth 7,583	SY	\$	7.00	\$	53,081.00	\$	3.45	\$ 26,161.35	\$	8.04	\$	60,967.32		
8	334-1-13	Superpave Asphaltic Conc, Traffic C (1.5")105	TN	\$	290.00	\$	30,450.00	\$ 2	0.25	\$ 28,376.25	\$	365.70	\$	38,398.50		
9	337-7-82	Asphalt Concrete Friction Course, Traffic C, FC-9.5 (1") 449.2	TN	\$	304.00	\$	136,556.80	\$ 2	99.00	\$ 134,310.80	\$	340.23	\$ 1	152,831.32		
10	400-0-11	Concrete Class NS, Gravity Wall 56.9	CY	\$	1,100.00	\$	62,590.00	\$ 1,4	29.34	\$ 81,329.45	\$	1,133.45	\$	64,493.31		
11	425-1-351	Inlets, Curb, Type P-5, <10' 2	EA	\$	12,000.00	\$	24,000.00	\$ 10,6	95.00	\$ 21,390.00	\$	10,793.00	\$	21,586.00		
12	425-1-361	Inlets, Curb, Type P-6, <10'	EA	\$	14,000.00	\$	28,000.00	\$ 12,4	20.00	\$ 24,840.00	\$	11,281.00	\$	22,562.00		
13	425-2-71	Manholes, J-7, <10' 2	EA	\$	13,700.00	\$	27,400.00	\$ 12,1	00.00	\$ 24,380.00	\$	16,464.00	\$	32,928.00		
14	425-5	Adjust Manhole 1	EA	\$	1,000.00	\$	1,000.00	\$ 8	52.50	\$ 862.50	\$	1,525.00	\$	1,525.00		
15	425-6	Adjust Valve Boxes 6	EA	\$	775.00	\$	4,650.00	\$ 6	00.00	\$ 4,140.00	\$	1,128.05	\$	6,768.30		
16	430-175-115	Pipe Culvert, Round, 15"S/CD 4	LF	\$	1,100.00	\$	4,400.00	\$ 9	54.50	\$ 3,818.00	\$	550.00	\$	2,200.00		
17	430-175-118	Pipe Culvert, Round, 18"S/CD 420	LF	\$	270.00	\$	113,400.00	\$ 2	1.50	\$ 101,430.00	\$	158.55	\$	66,591.00		
18	430-175-130	Pipe Culvert, Round, 30"S/CD 4	LF	\$	1,550.00	\$	6,200.00	\$ 1,3	30.00	\$ 5,520.00	\$	670.75	\$	2,683.00		
19	430-175-136	Pipe Culvert, Round, 36"S/CD 4	LF	\$	2,000.00	\$	8,000.00	\$ 1,7	25.00	\$ 6,900.00	\$	793.00	\$	3,172.00		
20	520-1-10	Concrete Curb & Gutter, Type F 820	LF	\$	50.00	\$	41,000.00	\$	53.48	\$ 52,053.60	\$	51.90	\$	42,558.00		
21	522-1	Concrete Sidewalks, 4" Thick 458	SY	\$	87.00	\$	39,846.00	\$	2.47	\$ 33,191.26	\$	75.30	\$	34,487.40		
22	522-2	Concrete Sidewalks And Driveways, 6" Thick 157	SY	\$	98.00	\$	15,386.00	\$ 1	6.73	\$ 16,756.61	\$	110.10	\$	17,285.70		
23	570-1-2	Sod 621	SY	\$	18.00	\$	11,178.00	\$	9.89	\$ 6,141.69	\$	17.16	\$	10,656.36		
SUBT	DTAL (ROADW	AY)		\$			956,685.30	\$	I	1,272,827.95	\$		1,2	242,428.99		

BID TABULATIONS GATEWAY BLVD AND LAWRENCE ROAD/OLD BOYNTON ROAD AND LAWREN PBC PROJECT #2019105 & 2019115				ROAE		Florida	Blacktop, Inc.	В	ergeron Lan	nd Deve	lopment, Inc.	Ra	Ranger Constuction Industries,			
#	FDOT Item #	Item Descrption	Qty.	Units	1	Unit Price	Amount	ι	Unit Price	it Price Amount		Unit Price			Amount	
CONT	TINGENCY ITEN	AS	, ,				1			1				1		
24	110-23	Tree Removal	7	EA	\$	5,000.00	\$ 35,000.00	\$	3,536.25	\$	24,753.75	\$	3,293.00	\$	23,051.00	
25	121-70	Flowable Fill - Excavatable	100	CY	\$	380.00	\$ 38,000.00	\$	450.00	\$	45,000.00	\$	355.50	\$	35,550.00	
26	425-1-461	Inlets, Curb, J-6, <10' (Conflict Structure)	1	EA	\$	15,600.00	\$ 15,600.00	\$	13,915.00	\$	13,915.00	\$	25,000.00	\$	25,000.00	
27	430-94-1	Storm Sewer Cleaning (Exist.) (24" Or Less) (See SP's)	155	LF	\$	39.00	\$ 6,045.00	\$	34.50	\$	5,347.50	\$	30.50	\$	4,727.50	
28	430-94-2	Storm Sewer Cleaning (Exist.) (>24" To 48") (See SP's)	348	LF	\$	52.00	\$ 18,096.00	\$	46.00	\$	16,008.00	\$	42.70	\$	14,859.60	
29	515-1-2	Handrail	25	LF	\$	383.00	\$ 9,575.00	\$	81.25	\$	2,031.25	\$	79.30	\$	1,982.50	
30	N/A	Class I Concrete (Miscellaneous)	50	CY	\$	325.00	\$ 16,250.00	\$	450.00	\$	22,500.00	\$	452.45	\$	22,622.50	
31	N/A	Support And Protect Underground Pipe And Conduit	431	LF	\$	35.00	\$ 15,085.00	\$	35.65	\$	15,365.15	\$	12.20	\$	5,258.20	
32	N/A	Changeable (Variable Message) Sign (Non MOT)	20	ED	\$	15.00	\$ 300.00	\$	20.00	\$	400.00	\$	24.40	\$	488.00	
33	N/A	Traffic Control Officer (Non MOT)	40	HR	\$	95.00	\$ 3,800.00	\$	100.00	\$	4,000.00	\$	116.00	\$	4,640.00	
34	N/A	Thickened Edge Sidewalk	216	SY	\$	98.00	\$ 21,168.00	\$	113.63	\$	24,544.08	\$	106.50	\$	23,004.00	
SUBT	OTAL (CONTIN	GENCY)			\$		178,919.00	\$			173,864.73	\$			161,183.30	
SIGN	ALIZATION PAY	Y ITEMS														
35	630-2-12	Conduit, Furnish & Install, Directional Bore	1,330	LF	\$	97.00	\$ 129,010.00	\$	27.60	\$	36,708.00	\$	61.00	\$	81,130.00	
36	633-1-122-48	Fiber Optic Cable, (FSM) 48-Count (Underground)	213	LF	\$	256.00	\$ 54,528.00	\$	20.70	\$	4,409.10	\$	24.40	\$	5,197.20	
37	635-2-12-A	Pull Box (17" x 30" x 12" D) Heavey Duty Covers (Tier22)	14	EA	\$	3,600.00	\$ 50,400.00	\$	966.00	\$	13,524.00	\$	2,440.00	\$	34,160.00	
38	635-2-12-C	Pull Box (30" x 48" x 24" D) Heavey Duty Split Covers (ITS) (Tier22)	1	EA	\$	5,890.00	\$ 5,890.00	\$	3,059.00	\$	3,059.00	\$	6,098.00	\$	6,098.00	
39	635-2-12-D	Pull Box (17" x 30" x 24" D) Heavey Duty Split Covers (ITS) (Tier22)	5	EA	\$	3,600.00	\$ 18,000.00	\$	1,192.55	\$	5,962.75	\$	3,049.00	\$	15,245.00	
40	682-1-133	ITS CCTV Camera, F&I, Dome Enclosure - Non-Pressurized, IP, High Definition	1	EA	\$	13,450.00	\$ 13,450.00	\$	8,050.00	\$	8,050.00	\$	14,635.00	\$	14,635.00	
SUBT	OTAL (SIGNAL	IZATION)			\$		271,278.00	\$			71,712.85	\$			156,465.20	
тота	L BID				\$		1,406,882.30	\$			1,518,405.53	\$			1,560,077.49	

		THE ITEMS AND QUANTITIES ABOVE, SHALL GOVERN OVER THE PLANS.										
	PAY ITEM FOOTNOTES IN CONSTRUCTION PLANS SHALL ALSO BE INCLUDED IN ITEM UNIT PRICE.											
Note #	FDOT Item #	PAY ITEM FOOTNOTES										
1	ALL	All costs for Maintenance of Traffic (MOT) and mobilization shall be considered incidental to, and shall be included in, unit prices for the pay items.										
2	ALL	All items shall include cost to furnish and install unless otherwise noted.										
3	102-1	Includes all items for maintenance of traffic which are not included for payment under separate items. Includes the preparation of temporary traffic control plans. Includes pedestrian Maintenance of Traffic in accordance with the specifications. Includes the cost for erosion and sediment control devices.										
4	110-1-1	Includes removal of existing drainage structures & pipes, culverts, signs, fence, hedge curbs, traffic separators, sidewalks, asphalt, base, concrete, temporary construction detours, and any other items to be removed that are not specifically covered under another separate pay item. Includes all sawcutting as shown on the plans or as directed by the engineer. Includes root pruning, tree removal and trimming.										
5	120-1	Includes cost of removal and disposal of unsuitable material that may be encountered during excavation as directed by the engineer. Includes rough and final grading and shaping as necessary for final restoration.										
6	285-713	Includes 12" thick compaction of subgrade										
7	327-70-1	Includes removal of existing RPM's, milling, saw-cutting, and removal of existing asphalt at butt joint, tie-ins to existing pavements.										
8	425-1-351, 425-1-361, 425-2-71	Includes saw-cutting and removal of existing pipe, core drilling or concrete collars to join new pipe to existing pipe, and all repair/restoration of existing facilities and surfaces as required, including any/all shoring, sheeting, and bracing and/or trench boxes as required for construction or as directed by the engineer. Includes the cost of all labor and materials for "open-cut" pavement repairs. Includes any existing light pole hold and/or protection as required for construction of pipe and/or structure.										
9	430-175-115, 430-175-118,	The cost of pipe shall include the cost of back filling required over pipe to finish as shown in the plans										
10	520-1-10	Includes cost of drop curbs, asphalt curb pad, additional curb thickness and underlying subgrade										
11	522-2	Includes cost of detectable warnings.										
12	633-1-122-48	Includes all costs associated with furnishing and installing the fiber optic cable 12 drop for PBC-Traffic ITS										
l bids su epared b hecked b	bject to OEBO co y: Felicia Johnson	ebruary 13, 2024, 2:00 PM mpliance and Board Approval. , Technical Assistant 1 it, P.E., Contracts Section Manager										